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Targets               
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Problems 3 and 4
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5.  
Rosie sees 5 children on the swings. Some children are on the slide. There are 11 children in all. How many children are on the slide?  Write an equation to solve the problem.

		_______           _______  =  _______




Solve with a drawing or model and an equation.
6. Sam has 10 shirts. Dan has 8 shirts.  How many more shirts does Sam have than Dan?







7.    Ann has 12 buttons in her box. She puts in    
       7 more. How many buttons are there in the 
       box now?








------------------------------------------------------------------------------------------T2
Problems 8 and 9
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Problems 10 and 11
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12.
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14.  Fill-in the missing space to make this true.

            2 + 8 = 6 + ____

-------------------------------------------------------------------------------------------T4
Problems 17-19  Complete each fact family.
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Problems 20-21
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Problems 24-25
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27.
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-----------------------------------------------------------------------------------------------------T3
15.   Fluency Assessment
   Flash each fact and allow three seconds only to determine automaticity.

9 -3 = _________			7 – 4 = ________

10– 5 = ________			3 – 2 = ________

8 – 6 = ________			1 – 1 = ________

10 – 0 = _______			6 – 3 = ________

9 – 5 = ________			8 – 4 = ________

[bookmark: _GoBack]
16.   Fluency Assessment
Flash each fact and allow three seconds only to determine automaticity.

  4 + 4 = _____              5 + 4 = ______ 

 
 2 + 2 = ______            6 + 4 = ______


3 + 2 = _____                8 + 1 = ______   


3 + 3 = ______              8 + 2 = ______
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The table shows ways to
make 12. Write a different
way to make 12.

12
6+6
3+5+4
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Add or subtract.
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What is the missing What is the missing
number? number?
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Write an addition fact that
helps you solve 12 — 7.
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. Brian solves this subtraction
senfence.

17—-8=

Write an addition sentence
Brian can use to check
his subtraction.
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Which equation is false?

038-1=2
0 8-5=3
05-3=8

Which equation is true?
O 18=7+7

o l12=44+9

O 9=8+1
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Write the number that
makes the sentence true.

9-2=3+
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Write the number that
makes the sentence true.

7-2=1+
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1. Mali plants 5 roses. Justin
plants 7 more roses than
Mali. Which number
sentence shows how to find
the number of roses Justin
plants?

o0b5+2=7
07-5=2
o5+7=12

o 12-56=7

2. Alice and Gavin eat | |
apples. Alice eats 6 apples.
Which number sentence
shows how to find the
number of apples

Gavin eats?

o 7+4=11
o 9+6=15
O 3+3= 6
oll—6=5
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Julia buys 12 books. She
gives 9 books away. How
many books does she

Carrie finds 4 pencils on
the floor. Now she has 12
pencils. How many pencils

have left? did Carrie start with?
9 2 2 4
12 12
o 2l o9 o 16 o8
o 12 o3 o 12 o4
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Look at the pairs of facts. Look at the pairs of facts.

Which shows related facts? Which shows related facts?

5+8=13 8—-5=3 8+9=17 9+9=18

8+5=13 8+5=13 8+8=16 9—-8=1
o o o o

5+8=13 5+8=13
8+8=16 5+3=8
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Tom uses these numbers
to write related facts.

8llo])i7

Which could be one of
Tom’s related facts?

0 8+9=17
09—-1=8
09-8=1
O l6-8=8

Dawn uses these numbers
to write related facts.

Y17 ([

Which is not one of
Dawn’s related facts?

o l—-7=4
o4H+7=1I
o7+4=1I

010-7=3
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